. 138w It
|36°
a5 1

| 90°

3

m

4 595°
_.3(000
_:Qs"’ e
+he least

0Svh Ve

. %QL/ e

1. B Qs‘.n%x

volu e of“ b
inclicats s CJ/)Mgﬂ»
6f Pwiocﬂ_.
Fox cin, tos cop w4 see
Puiocf;_‘\:. L

s A
T |6
1 (“)C:-) 'S au

Po'iﬂ_i' o Mo
Yorainal oide o f
Q.") ‘?s‘nJL, Cse 8-

SIN -+ CSC are \DOS({'l;VL-'

in @2

A o x 3
gy
2 wax v
5‘[-2. %:5 S0 io*
I Lls,g/ L/.‘J‘(nf_)h, d-b L(j.: 3 tos “31(.‘7_
| s Skalekbpn

MIDTERM ReviEW

0

%0
m

76 W
s
¢

K. Ry
=

a—'“Pl\*uCLQ =

pedod = 2w

intoryals oCOUYr Ov&_}_‘; write
X

Y3 4
4 e wmi __l.: £
BRI KN A

piriool - 2T

b

(

¥

2 o?"foo lies n (3

(N

'H' S e 'F-U/MCL

QMjQ_Q, v
o?klo‘:
o8 ar
o
Some QS Co s j‘f'gc)

RN

i

G

F

G.‘VQJU - e
Y= 7 (26 -] +3
Ainde phase st r

S Q,céucu.i o Fexr0

= Q&“"‘W;O

bbervols : ‘%T":_ m Bl = T

: B =
W‘I*"U\Jdl = 5
Gg Gos - - Thae phase shuf+
)‘_Tn.‘ Mo : s lr{—ow
S| mw T right
ol e,



EvALULATE

Jraf\—'(n);*ts"m,%

"At whad cngle does

the Fonget L%uaﬁ i

Pon 4 iju%: Ves i cions |

SN RLEY TAN QI Gy
o5 -~ (\)|, QL

Solve W{T;Malo/
B:; 300) Q:(‘,ao) G_-;QL,.
ASA

\7.

s hu st %mﬂ, [V

| a”ﬁo—ﬂ—/shﬂ\i Cormdbna o,

Sfl‘i’l’ﬁglo: Siﬂ—aoo
94 b
b: OH SH") 800

K takl (dose I © Vi

5 4= |'"7]5 n(e-T)+3

e omplhude is

7 ook 710, 15

\BM M ss Hus %u\sz
Iim gLr\OL#.M lja,u_,

backe 4o Mﬂ f)

|
i

'S’ SO\\]Q,\‘_G\_Q_ +(:C “:Q
A=50° ,B=70° a-25

cin s

'?_i’l_%o: $in70°

<in 34"
b = [94.7

Sin 30" - si@o

S C.
C= 94 6ink3°
Bl 34"

¢z k4.5

B = 35 & in LE”
$in 5B°

e de 4

a- |9
= 2y
e BE°

o .
Sh %

Az S ()4 €indo®

A2 8T e

19. Solve Q—Lt-[—“a,\%&/
b'; & 5 Q.—_7 ,
56 S
Lo o’); tosinec

Q=3

|

AS ks ‘ mLA =

b as cin7® | 82= LT A (DD eesh

b 3vSif]SO COS-' (89‘_(‘:3"7:}-)

~ 30.7
“A ()7

Bl R L A Lie® mLA xT75.6°

Py =

ML —

LR = 7%9 - alD(@)ewsh

Cos™' (4’9‘ R
-2 (8D

mi® 2 N’




How m

0. Sowe Ha v |
“;%%j at
Ry (Gl ENI T
SAS i
uee Lo of cosne s j A= (JLv) q;g)la;gq
| G
| ™
A télﬁo \“(b
UN KN gon

X $in (.n(aoz Swn 2
e - 2 (@)(13) CosH)° e - oy
5:\@'*“?—9\@)(13)@514!"_ _

L=7.9 5

PomAIN ERR R

MLl =
" . MeEARN S -
05/ 1pr-7.97-9° | Ne
: TRIANGLE EY\GTS
2 (179 ”  —
mLe > q0.2° NO SorwTrenw

[
o= b

A .

0 =10

This not SSA.
| Do we ned o
r! Checke +o make
| Suxe Yhe H‘.wﬁle,
s valyol 7
10
%)
9.9
(o

f LA =6+ a({gy@@g@c

i b 9.9

;i Fiad mLC

e (i)
| - e )X ‘1‘:;))

| MLCx 734 °

| | v OJL%SLQ onists

02 'Hionail; oxi st



29 QAsiax+ | =0 28 Hah e =
25InY s | o %g(qa¢,3
-\, sin”! A Ll o B o 3
\"‘ ‘ - - (LAY X = e
4 kSlnX:( 2)\ che (\%/5 | m
use Q\'LQ‘* OM’\}-;@B ‘Ax:iﬁrf
whoe 15 Yhe g‘.n’\L/’a-’___)_ W
Sin value = ’-%_, 4 —X =g ariel. Y = 1T
s e < 3
L R .
Serve ]
g 3 - 3
AT X =3, = o
2 d 4 -3 ©
X — gkj = g~ 6 S8 s
o M
%Mga’ WLOUL s Eny 2r Yhis oe o
3%X3 nte

. "_JH 1]

" enter madmy of
CoefFdiante as modviy

- enber madniy of
Censtonts a5 myabriy

 SDOWE Esr. X le

Pﬁ‘noufué AVR

Remembar, 6vder matters!

AWl 6F ‘Hus o be dome

\n Ja-&.u“ cal wdodsy

B\ﬂ h&IIOL

i L= [1 -—;11

Here )8 =(10-2) -(2.-2)

-3~ (»D—-I

So A7 - ml[
]E J

dooy”

Cal ootz Q cﬁase,

(.Q\_\/%am

Q(\o QQ.C,OS @ — 3@5®+\

(as& a)fcosa D=0

(C,os& = D(Qos& —J);o
.~ >

Cos® = | tose =1

2
[ Findt os"()) ond g057(L)

=0 and Q:—%

(

N -
HOoAR 0§

[
l
o ~3.-h ' o -3

[(3 R) +Cloeed +( a4 -a)j
;'[(o "R +H(~3.0.3) 4 (~y4.y.-) ,J

medril mend.
A\ [37, o [Q“Hw)-.?%]
O+o0 +16
i \ Cioms 116]
0 —1b
. Cw
| <9 ’ T 7 This
2 0 No ket 6nJ
indi codes

1]

DETERMINANT

(4.0 - (2.7)



: : We did net learn 4o do
3o [3 Sl 5

T \nverses o) 3¥%3. \93 Hmi,
B -3 =M Entter into Caleandoder as 5X3)

. Hhon Fid AT
Lk B =k

E 3 i Ciwo Yo mMaTH >~ Frac - ENTer, eNTER.

| ) _ To CHANGE To Fracrions
= 2 -4 Al

H b 23

81 Find <he Ao 0F Ve H\'MS/QJJ w}% SR
(,—1)33) (Q):L) ond. (Q,UD téj; mﬂ«&w
Cmer ke 343 WfETRE add 4 wlomnr of [< 3 {me}’\a)‘“’-
=B 7 Find dhe deterninent
A4 5 o |
N q K ' — lale Hae obsolade valie
o Cie. Mmoke it Pos.#%uo_j)
e e = Bivida by 5
Ahe 5 (juc’faj\MW Y
%Oj;\. 2 o “Bj AN P - 3 i ' ] 2
? & 2 | 7 Y 2
T 4 19 4
39&\ [(*l-;:::D+(3-r.qj+(\,g,q)]- |
R (:(oi-il-l)F(’—f.i-—D+—(|.g‘3):(
['l 27 + :Loj “[ﬂl}?--‘-i - |5’—J
o o prodalik myists M- ()
R "o w i -~ reade bemplote Ty g & 3 wuts
- A5~ onswen/
Kol 1k =26 0K ust yau

il
— a ol e|odpr—



